A = O & W9 A

B ES S EEES (E51:82)
SA - FH G NS S O & o4 IE ollakey HlRE2 & E 2
= Al 1,550,000 1,550,000 0
Ry 1,550,000 1,550,000 0
ns &4y ¥ nESEAM =g 1,550,000 1,550,000 0
FXAL HE(ZHF2ISLIN) 922,804 910,804 12,000
S &S 922,804 910,804 12,000
401 AIEHIR 2O 808,254 796,254 12,000
803,340 780,000 23,340( 01 Al&HI 23,340
O Ft 472 BSEXHE =4
d & 623,340,0008 - J1&E 600,000,000& = 23,340
0 11,340 A11,340( 02 el 211,340
O Ft 472 IEFIHY TH(MAEY)
48 08 - J1E8 11,340,000& = 211,340
28 FINSLH(ZEAF2ESLEN) 277,961 295,961 £ 18,000
2 FEX o 277,961 295,961 18,000
201 LBt=aHl 243,841 261,841 A 18,000
135,961 153,961 A18,000( 02 ==l A 18,000
O AEZH S 18,000
O PALETHI(CCTV) RN 24 (0l &= )
d3d 0& - JId 18,000,000 = A 18,000
FIAE OB (FUHE2SSESAH) 349,235 343,235 6,000
oilH1 ] 349,235 343,235 6,000
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